Mathematics 172

Quiz 1 Name: Ke Y

You must show your work to get full credit.

Let P(t) satisfy
P'(t) = .05P(t), and  P(0) =50

(1) Give a formula for the value of P(t). Plt) = 50 6‘0 A

T\/\-ﬁ 3@(%4'7014 “'O P’_fk) =a 590(_)

/S Po) = P!o)@a‘)e, Tn our cousg
+Wis  becgunag Pk) = 5‘08"4?#

(2) When does P(t) take on the value 8007 t= 554 75 |7/

That Is we want to cdre —
Pray) = 50 &% Zjeao

s @90 = Foo/s0o
OSkt = L ($99/60)

4 = Lalsoy/so) fos = °°- A
(3) What is the doubling time of P(t)?
Doubling time = [ 3. 36 2 “
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